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http://logicmastersindia.com/lmitests/?test=M201304Contest 
 

7 7 3

4 4 3 4

5 5 4 1 1

7 7 1

7 7 1

6 6 5

6 6 5

5 5 3 3

5 5 6

2 1 2 4 6

2 2 4 4 4

7 7 1

1 2 2 6 6

3 3 3 3 2 2 1

(R-r)^2+(C-c)^2 = 13

Submitted by Tomoaki     (using 56)

R=17      r=15      C=17      c=14     (R-r)^2+(C-c)^2 = 13
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7 7 7 5 4 2

7 2 2 2 2 2 2 2 4 4 4

1 6 1 3 6 6 4 5

1 3 1 1 3 7 7 6 5

3 4 1 5 6 6 6

3 3 5 5 5 5 1 3

4 4 7 7 3 1 6

(R-r)^2+(C-c)^2 = 20

Submitted by S_Aoki     (using 56)

R=34      r=30      C=17      c=15     (R-r)^2+(C-c)^2 = 20
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7 7 2

7 7 2

1 1 6 6

1 1 1 6 6

5 6 5

5 5 7

2 2 7 6

4 6 4 4

4 1 1 5 5

2 2 3 5 5

2 6 3 3 3

2 3 3 1 7

3 4 7

3 4 4 4

(R-r)^2+(C-c)^2 = 25

Submitted by Christian     (using 56)

R=18      r=14      C=18      c=15     (R-r)^2+(C-c)^2 = 25
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2 2 2 5 5

2 7 7

6 6 4

6 2 2 4

7 6 1

7 3 3 3

7 3 6

7 1 1 6 1 1

1 4 6 4

1 4 4 4 4

1 5 5 3

5 5 3 3 2

6 5 5 3

7 7 2

(R-r)^2+(C-c)^2 = 29

Submitted by Nikola     (using 56)

R=19      r=14      C=29      c=27     (R-r)^2+(C-c)^2 = 29
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2 1 1 7 7 6

3 3 3 5 7 2 2

2 3 3 3 3 7 2 2

2 7 4 4 4 4 2

5 5 7 4 4

5 5 6 6 1

5 7 6 6

1 1 5 5 6 6

7 1 1 1 4 4 6 3

(R-r)^2+(C-c)^2 = 32

Submitted by EKBM     (using 56)

R=27      r=23      C=24      c=20     (R-r)^2+(C-c)^2 = 32
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7 6 6 3 3 1 1 5

2 2 2 7 7 7 7

4 5 5 5 5 3 3 3

6 6 4 4 4 4 2 2

5 4 2 3 3 4 4 5

5 7 7 7 1 1 1 1 2

3 1 2 6 6 6 6 1

(R-r)^2+(C-c)^2 = 32

Submitted by kiwijam     (using 56)

R=34      r=30      C=18      c=14     (R-r)^2+(C-c)^2 = 32
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7 7

1 7 7 2

1 2 6 6

4 6 6

4 7 7

4 4 5 5

6 6 5

7 3 3 5

4 7 2 2

4 2 3 3 1 1

3 2 2 5 3

3 2 6 5

3 4 1 1 6

4 5 5 1 1

(R-r)^2+(C-c)^2 = 32

Submitted by PSL     (using 56)

R=18      r=14      C=18      c=14     (R-r)^2+(C-c)^2 = 32
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7 7 6

7 7 7

1 1 1 5 5 5 3

1 3 7 4 4 1

1 7 4 4 4 1

6 6 6 3

5 5 5 5

2 5 4 3 6

2 4 3 3 3 2 2 2

2 2 2 4 3 7

1 6 6 6

(R-r)^2+(C-c)^2 = 40

Submitted by forcolin     (using 56)

R=21      r=19      C=19      c=13     (R-r)^2+(C-c)^2 = 40
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2 2 7 7

2 7 7

2 1 6 6 4

3 2 2 6 4

3 4 3 7

1 4 5 7

1 4 4 2 2 5

6 5 4

6 6 4

6 6 5 1 1

3 3 5 5 1 1

3 3 5 5 1

3 7 7

(R-r)^2+(C-c)^2 = 41

Submitted by jhrdina     (using 56)

R=19      r=15      C=31      c=26     (R-r)^2+(C-c)^2 = 41
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7 7 3

7 4 4

3 3 5 5

5 5 7

7 2 2 7

2 2 1 1 1 5 5

4 1 1 1 5 5

6 6 2 4

6 6 2 2 1

4 4 2 3 1

4 3 3 3

4 7 3

6 6 6

6 7

(R-r)^2+(C-c)^2 = 50

Submitted by tarotaro     (using 56)

R=18      r=13      C=18      c=13     (R-r)^2+(C-c)^2 = 50
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2 2 3 5 5

2 2 3 5 5

4 7 7

4 3 3 5 2

3 3 1 1 5

6 6 1 1

7 7 4

4 1 1 7 2

7 7 1

7 1 6

2 2 6 4

6 6 4

6 6 4

5 5 4

(R-r)^2+(C-c)^2 = 61

Submitted by rubben     (using 54)

R=18      r=13      C=25      c=9     (R-r)^2+(C-c)^2 = 281
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5 3 3 7 7 4 4

3 3 3 3 4 4 4

1 1 6 6 6 6 3

1 1 7 6 6 3

7 7 7 1 1 4 2

5 7 7 2 1 1 2

5 2 2 2 5 6 6

4 4 2 2 5 5 5 5

(R-r)^2+(C-c)^2 = 130

Submitted by Para     (using 56)

R=33      r=24      C=26      c=19     (R-r)^2+(C-c)^2 = 130
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6 3 3 6 6

7 7 3 3 2 2

5 7 7 3 2 2

4 5 5 6 2

4 5 6 6 1 1

4 4 5 6 1

5 3 3 5 1

5 1 4 4 2 2 1

1 1 4 4 2 7 7

3 6 7 7

(R-r)^2+(C-c)^2 = 130

Submitted by Ours brun     (using 56)

R=26      r=17      C=25      c=18     (R-r)^2+(C-c)^2 = 130
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5 2 2 2 2

5 7

5 7 3

5 4 3 6

4 6 6

4 6 7

7 7

7 5 4

1 5 6 2 2

1 6 4 6

1 4 7 6

4 4 3 7 1 1

3 2 5 5 3 1

2 1 1 3 3 3

(R-r)^2+(C-c)^2 = 145

Submitted by figonometry     (using 56)

R=20      r=12      C=20      c=11     (R-r)^2+(C-c)^2 = 145
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7 7

7 7 6

1 6 5 5

5 7 4 4

7 4 4

4 3 4 2

3 7 2 6

7 2 6 6

5 2 2 5 6

5 5 1 2 4 4

5 3 3 1 1 2 1

3 2 6 1 1

3 3 3 6 1

(R-r)^2+(C-c)^2 = 145

Submitted by witty     (using 56)

R=21      r=13      C=22      c=13     (R-r)^2+(C-c)^2 = 145
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7 7 5 5 5

7 7 5 4

6 2 4 6 6

6 6 6 2 2 3

1 5 5 4 4 3

1 3 3 4 4 4 4

1 3 3 7 7 1 7

5 3 3 1 2 1 1 7

5 2 2 1 2 2 6 6

(R-r)^2+(C-c)^2 = 157

Submitted by Nilz     (using 56)

R=29      r=22      C=28      c=13     (R-r)^2+(C-c)^2 = 274
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7 7 3 3

1 3 6 6

1 5 6

1 5 5 6

2 2 6 7

4 7 5

4 7 7 5

6 4 7 5

4 7 4 5

4 4 2 2

1 6 2 2 2 1

1 1 6 2 1

5 3 3

4 3 3 3

(R-r)^2+(C-c)^2 = 244

Submitted by greenhorn     (using 56)

R=23      r=11      C=37      c=27     (R-r)^2+(C-c)^2 = 244
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4 4 6

7 6 6

7 3 7

3 7 7 1

3 2 2 6 1

3 2 2 2 2 1 2

4 4 5 5 2

7 7 5

6 5

3 3 6 1

7 1 1 1 6

1 4 6 5

4 4 4 5

3 3 5 5

(R-r)^2+(C-c)^2 = 250

Submitted by deu     (using 56)

R=20      r=11      C=23      c=10     (R-r)^2+(C-c)^2 = 250
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2 2 2 7 7 7

3 3 2 2 2 7

3 6 5 6

3 6 5 4 4 6

5 5 5 6 6

5 3 3 6 6

5 7 7 1 7 1 1

5 1 7 1 1

1 4 4 4 2 2

1 3 3 4 4 4

(R-r)^2+(C-c)^2 = 296

Submitted by muhorka     (using 56)

R=29      r=15      C=28      c=18     (R-r)^2+(C-c)^2 = 296
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1 4 3 3 5 2

4 6 6 6 5 2 2

6 6 6

2 2 1 7 4

4 4 1 1 3 3 3

4 4 5 3 3 3

4 5 6 2 2 1

7 6 7 7 1

7 7 7 5 5

1 1 2 7 5 5

(R-r)^2+(C-c)^2 = 394

Submitted by foxfirex     (using 56)

R=31      r=16      C=31      c=18     (R-r)^2+(C-c)^2 = 394
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5 3 3 2 2 2

5 5 2 2 6 6

3 6 1 6 6

1 6 6 1 5

1 1 7 7 1 5 4

4 1 1 3 3 4

4 5 4 3 3 4

7 7 5 4 6 4

7 5 2 2 2 7

7 7 3

(R-r)^2+(C-c)^2 = 317

Submitted by karzym     (using 56)

R=33      r=16      C=29      c=15     (R-r)^2+(C-c)^2 = 485
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1

3 6 1 5

6 6 6 6 6 6 7 7 7 7 7 7 7 7

2 4 6 2 3 4

2 4 5

2 3 5 2 2 4 4 1 1 1

2 1 5 1 1

3 5 3 3 3 2 3

5

5

5

4

4

4

(R-r)^2+(C-c)^2 = 11881

Submitted by xevs     (using 56)

R=92      r=1      C=66      c=6     (R-r)^2+(C-c)^2 = 11881


